BID TABULATION FOR:

CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES AND PAVING & APPURTENANCES TO SERVE ALLISON PARK SECTION 6

HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 580
CITY OF HOUSTON, HARRIS COUNTY, TEXAS
SEPTEMBER 09, 2025
LIA ENGINEERING, INC.
D.CAMPOS
9/9/2025

2835-2107 (0)

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LIA JOB NO.

BIDDER NAME	BASE BID
1) R CONSTRUCTION CIVIL, LLC	\$1,607,746.25
2) NORTHTEX CONSTRUCTION, LLC	\$1,673,933.51
3) SUBTERRA SERVICES ENTERPRISES, LLC	\$1,686,000.00
4) RODRIGUEZ CONSTRUCTION GROUP, LLC	\$1,952,200.00
5) PRINCIPAL SERVICES, LTD	\$2,209,637.87

140/160- CALENDAR DAYS

I, Reginald Smith, P.E., hereby certify these bid tabulations to be true a

REGINALD F./SMITH 9 September 2025

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LIA JOB NO.

HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 580 CITY OF HOUSTON, HARRIS COUNTY, TEXAS SEPTEMBER 09, 2025 LIA ENGINEERING, INC. D.CAMPOS 9/9/2025 2835-2107 (0)

				1) R CONSTRU	CTION CIVIL, LLC	2) NORTHTEX CO	ONSTRUCTION, LLC	3) SUBTERRA SERVIC	ES ENTERPRISES, LLC	4) RODRIGUEZ CONST	RUCTION GROUP, LLC
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
	INITIE ITEMS 8" PVC WATER LINE, C-900, DR 18, CLASS 235, INCLUDES FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	1571	\$32.00	\$50,272.00	\$35.56	\$55,864.76	\$41.00	\$64,411.00	\$37.10	\$58,284.10
2	8" PVC RESTRAINED JOINT WATER LINE, C-900, DR 18, CLASS 235, INCLUDES RESTRAINED JOINT FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	346	\$41.00	\$14,186.00	\$48.27	\$16,701.42	\$58.00	\$20,068.00	\$47.74	\$16,518.04
3	8" AWWA GATE VALVE & BOX, COMPLETE IN PLACE	EA	2	\$2,100.00	\$4,200.00	\$2,582.21	\$5,164.42	\$1,800.00	\$3,600.00	\$1,925.01	\$3,850.02
4	FIRE HYDRANT UNIT, INCLUDES APPROPRIATE TEE, FITTINGS, 6" GATE VALVE & BOX, AND LEAD PIPE, ALL DEPTHS, COMPLETE IN PLACE	EA	5	\$6,950.00	\$34,750.00	\$7,398.74	\$36,993.70	\$6,100.00	\$30,500.00	\$7,580.69	\$37,903.45
5	WET CONNECTION OF PROPOSED 8" WATER LINE TO EXISTING WATER LINE, INCLUDES FITTINGS, ALL ADAPTERS AND CONNECTORS NECESSARY, AND REMOVAL OF EXISTING PLUG & CLAMP AND 2" BLOW-OFF VALVE & BOX, ALL DEPTHS, COMPLETE IN PLACE	EA	3	\$340.00	\$1,020.00	\$953.81	\$2,861.43	\$500.00	\$1,500.00	\$930.75	\$2,792.25
6	UTILITY SPOILS, INCLUDES HAULING EXCAVATED MATERIALS ONSITE, INCLUDES STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITYM WITH MAXIMUM 8" LIFTS, FINAL GRADING, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	CY	1752	\$1.00	\$1,752.00	\$1.35	\$2,365.20	\$5.50	\$9,636.00	\$3.29	\$5,764.08
7	TRENCH SAFETY SYSTEM FOR WATER LINE, INCLUDES ALL LATERAL LEADS, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	1917	\$1.00	\$1,917.00	\$0.37	\$709.29	\$0.01	\$19.17	\$0.11	\$210.87
8	DEWATERING FOR WATER LINE, (AS DIRECTED BY ENGINEER), ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	960	\$23.00	\$22,080.00	\$14.56	\$13,977.60	\$1.00	\$960.00	\$15.00	\$14,400.00
SUBTO	AL WATER LINE ITEMS			U 1-	\$130,177.00	-	\$134,637.82	_	\$130,694.17	=	\$139,722.81
	RY SEWER ITEMS 8" PVC SEWER PIPE, ASTM D-2241, SDR 26, 0' - 8' CUT, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LĒ	276	\$36.00	\$9,936.00	\$37.37	\$10,314.12	\$46.00	\$12,696.00	\$42.16	\$11,636.16
2	8" PVC SEWER PIPE, ASTM D-2241, SDR 26, 8' - 12' CUT, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	1587	\$38.00	\$60,306.00	\$37.36	\$59,290.32	\$48.00	\$76,176.00	\$43.80	\$69,510.60
3	STANDARD 4' DIAMETER PRECAST SANITARY SEWER MANHOLE, (0' - 8' DEPTH), INCLUDES ADJUSTMENTS, COMPLETE IN PLACE	EA	7	\$2,300.00	\$16,100.00	\$4,398.24	\$30,787.68	\$2,700.00	\$18,900.00	\$4,380.00	\$30,660.00
4	EXTRA VERTICAL DEPTH FOR 4' DIAMETER SANITARY SEWER MANHOLE (OVER 8' DEPTH), COMPLETE IN PLACE	VF	7.99	\$170.00	\$1,358.30	\$131.68	\$1,052.12	\$200.00	\$1,598.00	\$312.08	\$2,493.52
5	LONG SIDE DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEAD, ASTM D-3034, SDR 26, INCLUDES PIPE, CEMENT STABILIZED SAND BACKFILL, DROP STRUCTURE, STACK, RISER, WYE, PLUG, MARKER, AND ANY NECESSARY FITTINGS, ALL DEPTHS, COMPLETE IN PLACE	EA	20	\$2,450.00	\$49,000.00	\$3,441.13	\$68,822.60	\$2,200.00	\$44,000.00	\$3,983.61	\$79,672.20
6	SHORT SIDE SINGLE 6" PVC PIPE SERVICE LEAD, ASTM D-3034, SDR 26, INCLUDES PIPE, CEMENT STABILIZED SAND BACKFILL, DROP STRUCTURE, STACK, RISER, WYE, PLUG, MARKER, AND ANY NECESSARY FITTINGS, ALL DEPTHS, COMPLETE IN PLACE	EA	25	\$1,400.00	\$35,000.00	\$1,159.52	\$28,988.00	\$1,600.00	\$40,000.00	\$1,693.97	\$42,349.25
7	REMOVE AND OFFSITE DISPOSAL OF EXISTING 8" PLUG AND CONNECT PROPOSED 8" SANITARY SEWER, ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$150.00	\$300.00	\$719.54	\$1,439.08	\$250.00	\$500.00	\$930.75	\$1,861.50 FRN F-138

				1) R CONSTRU	ICTION CIVIL, LLC	2) NORTHTEX C	ONSTRUCTION, LLC	3) SUBTERRA SERVIC	CES ENTERPRISES, LLC	4) RODRIGUEZ CONST	RUCTION GROUP, LLC
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
8	CLEANING AND VIDEO INSPECTION OF SANITARY SEWER, ALL SIZES, INCLUDES DIGITAL COPY, COMPLETE IN PLACE	LF	1863	\$2.25	\$4,191.75	\$2.33	\$4,340.79	\$2.00	\$3,726.00	\$3.29	\$6,129.27
9	DITILITY SPOILS, INCLUDES HAULING EXCAVATED MATERIAL ONSITE, INCLUDES STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, FINAL GRADING, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	СҮ	2208	\$1.00	\$2,208.00	\$1.35	\$2,980.80	\$5.50	\$12,144.00	\$3.29	\$7,264.32
10	. TRENCH SAFETY SYSTEM FOR SANITARY SEWER, INCLUDES ALL LATERAL LEADS, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	1863	\$1.00	\$1,863.00	\$0.37	\$689.31	\$0.01	\$18.63	\$0.11	\$204.93
11	. DEWATERING FOR SANITARY SEWER, (AS DIRECTED BY ENGINEER), ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	930	\$23.00	\$21,390.00	\$14.58	\$13,559.40	\$25.00	\$23,250.00	\$20.00	\$18,600.00
12	. CORE INTO EXISTING SANITARY SEWER MANHOLE AND CONNECT PROPOSED 8" SANITARY SEWER LINE, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$1,500.00	\$1,500.00	\$1,390.12	\$1,390.12	\$1,000.00	\$1,000.00	\$1,642.50	\$1,642.50
SUBTO	TAL SANITARY SEWER ITEMS			-	\$203,153.05		\$223,654.34	_	\$234,008.63	_	\$272,024.25
	SEWER ITEMS . 24" RCP STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	182	\$90.00	\$16,380.00	\$116.97	\$21,288.54	\$140.00	\$25,480.00	\$98.00	\$17,836.00
2	. 30" RCP STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	480	\$107.00	\$51,360.00	\$138.22	\$66,345.60	\$143.00	\$68,640.00	\$118.02	\$56,649.60
3	. 36" RCP STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	866	\$170.00	\$147,220.00	\$188.96	\$163,639.36	\$193.00	\$167,138.00	\$177.26	\$153,507.16
4	. 42" RCP STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	261	\$215.00	\$56,115.00	\$236.49	\$61,723.89	\$250.00	\$65,250.00	\$245.98	\$64,200.78
5	REINFORCED CONCRETE TYPE "C" MANHOLE FOR 42" STORM SEWER AND SMALLER, INCLUDES ADJUSTMENTS, ALL DEPTHS, COMPLETE IN PLACE	EA	7	\$3,700.00	\$25,900.00	\$3,963.06	\$27,741.42	\$4,000.00	\$28,000.00	\$4,599.00	\$32,193.00
6	S. STAGE I - REINFORCED CONCRETE "B-B" INLET, (5' OPENING), INCLUDES INLET PROTECTION BARRIER FOR STAGE I INLET, ALL DEPTHS, COMPLETE IN PLACE	EA	10	\$1,150.00	\$11,500.00	\$1,646.40	\$16,464.00	\$1,400.00	\$14,000.00	\$1,314.00	\$13,140.00
7	STAGE II - REINFORCED CONCRETE "B-B" INLET, (5' OPENING), ALL DEPTHS, COMPLETE IN PLACE	EA	10	\$3,350.00	\$33,500.00	\$2,951.20	\$29,512.00	\$2,800.00	\$28,000.00	\$1,642.50	\$16,425.00
8	CONSTRUCT REINFORCED CONCRETE TYPE "E" INLET ON EXISTING STORM SEWER, ONE SIDE OPEN, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$2,400.00	\$2,400.00	\$3,110.01	\$3,110.01	\$2,500.00	\$2,500.00	\$3,504.00	\$3,504.00
9	. WING WALLS FOR 24" RCP STORM SEWER PER COH DETAILS, INCLUDES HEADWALL AND APRON, COMPLETE IN PLACE	EA	2	\$1,900.00	\$3,800.00	\$2,545.72	\$5,091.44	\$2,500.00	\$5,000.00	\$4,927.50	\$9,855.00
10	. VIDEO INSPECTION OF STORM SEWER, ALL SIZES, INCLUDES DIGITAL COPY, COMPLETE IN PLACE	LF	1789	\$3.25	\$5,814.25	\$3.29	\$5,885.81	\$3.00	\$5,367.00	\$5.48	\$9,803.72

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

				1) R CONSTR	UCTION CIVIL, LLC	2) NORTHTEX CO	ONSTRUCTION, LLC	3) SUBTERRA SERVICE	S ENTERPRISES, LLC	4) RODRIGUEZ CONST	TRUCTION GROUP, LLC
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
11	UTILITY SPOILS, INCLUDES HAULING EXCAVATED MATERIAL ONSITE, INCLUDES STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, FINAL GRADING, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	CY	2470	\$1.00	\$2,470.00	\$1.35	\$3,334.50	\$5.50	\$13,585.00	\$3,29	\$8,126.30
12	. TRENCH SAFETY SYSTEM FOR STORM SEWER, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	1789	\$1.00	\$1,789.00	\$0.37	\$661.93	\$0.01	\$17.89	\$0.11	\$196.79
13	EXCAVATION AND GRADING OF DRAINAGE SWALE, 3:1 MINIMUM SIDE SLOPE - V-BOTTOM, (ALL DEPTHS), INCLUDES HAULING OF SPOIL MATERIAL, STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND REAPPLICATION OF STRIPPINGS, COMPLETE IN PLACE	LF	463	\$3.40	\$1,574.20	\$6.84	\$3,166.92	\$4.75	\$2,199.25	\$4.93	\$2,282.59
14	EXCAVATION AND GRADING OF ROADSIDE DITCH ALONG FUQUA STREET, INCLUDES STRIPPING, STOCKPILING STRIPPINGS, ONSITE PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND RE-APPLICATION OF STRIPPINGS, INCLUDES HYDROMULCH SEEDING, INCLUDES WATERING, COMPLETE IN PLACE	LF	2090	\$3.00	\$6,270.00	\$8,10	\$16,929.00	\$5.50	\$11,495.00	\$6.57	\$13,731.30
15	. REMOVE AND OFFSITE DISPOSAL OF EXISTING 8" BRICK PLUG AND CONNECT PROPOSED 42" RCP TO EXISTING 42" RCP, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$625.00	\$625.00	\$489.71	\$489.71	\$500.00	\$500.00	\$647.76	\$647.76
16	. DEWATERING FOR STORM SEWER, (AS DIRECTED BY ENGINEER), ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	895	\$23.00	\$20,585.00	\$14.62	\$13,084.90	\$25.00	\$22,375.00	\$20.00	\$17,900.00
17	BREAK INTO EXISTING STORM SEWER MANHOLE TO CONNECT PROPOSED 36" STORM SEWER, COMPLETE IN PLACE	EA	1	\$625.00	\$625.00	\$1,059.21	\$1,059.21	\$500.00	\$500.00	\$985.50	\$985.50
SUBTO	TAL STORM SEWER ITEMS				\$387,927.45	_	\$439,528.24	_	\$460,047.14	-	\$420,984.50
PAVING 1	ITEMS . 6" REINFORCED CONCRETE PAVEMENT 3,500 PSI, COMPLETE IN PLACE	SY	6170	\$50.00	\$308,500.00	\$54.16	\$334,167.20	\$55.00	\$339,350.00	\$52.83	\$325,961.10
2	. 4" X 12" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	3680	\$4.00	\$14,720.00	\$4.97	\$18,289.60	\$4.75	\$17,480.00	\$4.11	\$15,124.80
3	. 6" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	270	\$4.00	\$1,080.00	\$4.97	\$1,341.90	\$4.75	\$1,282.50	\$4.11	\$1,109.70
4	. 8" LIME STABILIZED SUBGRADE MANIPULATION, COMPLETE IN PLACE	SY	6603	\$4.25	\$28,062.75	\$2.73	\$18,026.19	\$4.75	\$31,364.25	\$4.33	\$28,590.99
5	. HYDRATED LIME FOR 8" STABILIZED SUBGRADE PREPARATION, 6% BY DRY WEIGHT (36 LBS/SY) AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	119	\$350.00	\$41,650.00	\$373.31	\$44,423.89	\$375.00	\$44,625.00	\$366.83	\$43,652.77
6	. 5' WIDE REINFORCED CONCRETE 4.5" ALONG RESERVES AND SIDE LOTSTHICK SIDEWALK, COMPLETE IN PLACE	LF	1330	\$38.00	\$50,540.00	\$35.61	\$47,361.30	\$47.00	\$62,510.00	\$36.14	\$48,066.20
7	. ADA RAMPS, INCLUDES TRUNCATED DOME PAVERS WITH CONTRASTING COLOR PER DETAIL, COMPLETE IN PLACE	EA	2	\$2,100.00	\$4,200.00	\$1,828.95	\$3,657.90	\$1,950.00	\$3,900.00	\$1,921.73	\$3,843.46
8	. FINAL LOT AND RESERVE GRADING, COMPLETE IN PLACE	EA	90	\$185.00	\$16,650.00	\$157.45	\$14,170.50	\$190.00	\$17,100.00	\$312.08	\$28,087.20

HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 580 CITY OF HOUSTON, HARRIS COUNTY, TEXAS SEPTEMBER 09, 2025 LJA ENGINEERING, INC. D.CAMPOS 9/9/2025

2835-2107 (0)

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

				1) R CONSTRU	JCTION CIVIL, LLC	2) NORTHTEX CO	ONSTRUCTION, LLC	3) SUBTERRA SERVIC	ES ENTERPRISES, LLC	4) RODRIGUEZ CONST	TRUCTION GROUP, LLC
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
9. RO. PRO PLA WI	ADWAY EXCAVATION TO BE USED FOR FILL TO FINAL GRADE WITHIN THE DIECT LIMITS, INCLUDES STRIPPING, STOCKPILING STRIPPINGS, ICEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, ITH MAXIMUM 8" LIFTS, AND RE-APPLICATION OF STRIPPINGS, COMPLETE PLACE	CY	1101	\$8.00	\$8,808.00	\$8.09	\$8,907.09	\$6.50	\$7,156.50	\$6.02	\$6,628.02
	/2" TYPE "D" HMAC PAVING WITH 6" FLEXIBLE BLACK BASE AND PRIME AT, COMPLETE IN PLACE	SY	2330	\$85.00	\$198,050.00	\$92.18	\$214,779.40	\$73.00	\$170,090.00	\$136.88	\$318,930.40
11. 8" 5	STABILIZED SUBGRADE MANIPULATION, COMPLETE IN PLACE	SY	2330	\$9.00	\$20,970.00	\$12.56	\$29,264.80	\$14.00	\$32,620.00	\$13.14	\$30,616.20
12. 1'-6	" FLUSH CURB/GUTTER, CONCRETE, COMPLETE IN PLACE	LF	2090	\$5.00	\$10,450.00	\$5.18	\$10,826.20	\$21.00	\$43,890.00	\$10.40	\$21,736.00
13. TYF	PE III BARRICADE, COMPLETE IN PLACE	EA	1	\$1,200.00	\$1,200.00	\$1,316.78	\$1,316.78	\$1,250.00	\$1,250.00	\$1,752.00	\$1,752.00
14. RE	MOVE AND DISPOSE OF TYPE III BARRICADE, COMPLETE IN PLACE	EA	4	\$1.00	\$4.00	\$179.56	\$718.24	\$1.00	\$4.00	\$54.75	\$219.00
SUBTOTAL P	AVING ITEMS			-	\$704,884.75		\$747,250.99	_	\$772,622.25	-	\$874,317.84
GEI	IS DRM WATER POLLUTION PREVENTION PLAN COMPLIANCE, INCLUDES NERAL SOURCE CONTROLS AND ALL ITEMS NOT SPECIFICALLY LISTED IN E BID PROPOSAL, COMPLETE IN PLACE	LS	1	\$1,200.00	\$1,200.00	\$3,531.35	\$3,531.35	\$1,000.00	\$1,000.00	\$1,642.50	\$1,642.50
	TALL, MAINTAIN, AND REMOVE STABILIZED CONSTRUCTION EXIT, AND GRADE AREA TO MATCH FINISHED GRADE, COMPLETE IN PLACE	EA	1	\$1,500.00	\$1,500.00	\$3,893.10	\$3,893.10	\$1,500.00	\$1,500.00	\$2,299.50	\$2,299.50
	TALL, MAINTAIN, AND REMOVE FILTER FABRIC FENCE (SILT BARRIER ICING), COMPLETE IN PLACE	LF	5597	\$2.00	\$11,194.00	\$1.50	\$8,395.50	\$2.00	\$11,194.00	\$3.29	\$18,414.13
4. INL	ET PROTECTION BARRIER FOR STAGE I INLET, COMPLETE IN PLACE	EA	10	\$50.00	\$500.00	\$50.58	\$505.80	\$100.00	\$1,000.00	\$109.50	\$1,095.00
5. INL	ET PROTECTION BARRIER FOR STAGE II INLET, COMPLETE IN PLACE	EA	10	\$50.00	\$500.00	\$50.58	\$505.80	\$50.00	\$500.00	\$109.50	\$1,095.00
SUBTOTAL S	WPPP ITEMS			-	\$14,894.00	-	\$16,831.55	_	\$15,194.00	-	\$24,546.13
PRO STA	K AL LOT GRADING OF LOTS AND RESERVES, INCLUDES STRIPPING AND DOF ROLLING, HAULING PLACEMENT AND COMPACTION OF FILL AT 95% INDARD PROCTOR DENSITY, AND REPLACEMENT OF STRIPPINGS, MPLETE IN PLACE	EA	93	\$185.00	\$17,205.00	\$178.64	\$16,613.52	\$190.00	\$17,670.00	\$312.08	\$29,023.44
2. HYI PLA	DROMULCH SEED ALL RESERVES, INCLUDES WATERING, COMPLETE IN	AC	0.6	\$3,000.00	\$1,800.00	\$2,633.55	\$1,580.13	\$5,000.00	\$3,000.00	\$6,570.00	\$3,942.00
SUBTOTAL E	ARTHWORK			-	\$19,005.00	-	\$18,193.65	_	\$20,670.00	-	\$32,965.44
MISCELLANE 1. TEM	OUS ITEMS MPORARY TRAFFIC CONTROL PLAN, COMPLETE IN PLACE	LS	1	\$1.00	\$1.00	\$5,859.86	\$5,859.86	\$750.00	\$750.00	\$2,657.43	\$2,657.43
PA	RMANENT TRAFFIC CONTROL DEVICES, INCLUDES ALL TRAFFIC BUTTONS, /EMENT STRIPING, MARKERS, REFLECTIVE PAINT ON MEDIAN NOSES, LEET SIGNS, TRAFFIC SIGNS, ETC., COMPLETE IN PLACE	LS	1	\$2,900.00	\$2,900.00	\$2,394.14	\$2,394.14	\$3,579.50	\$3,579.50	\$3,285.00	\$3,285.00
	TRA CEMENT STABILIZED SAND BACKFILL, (AS DIRECTED BY ENGINEER), MPLETE IN PLACE	CY	100	\$25.00	\$2,500.00	\$32.85	\$3,285.00	\$10.00	\$1,000.00	\$15.00	\$1,500.00 FRN F-138

LJA Engineering, Inc.

BID TABULATION FOR:

CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES AND PAVING & APPURTENANCES TO SERVE ALLISON PARK SECTION 6

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

				1) R CONSTRU	JCTION CIVIL, LLC	2) NORTHTEX CO	NSTRUCTION, LLC	3) SUBTERRA SERVICES ENTERPRISES, LLC		4) RODRIGUEZ CONSTRUCTION GROUP, LLC	
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
4.	IMPORT FILL, INCLUDES HAUL FROM DESIGNATED STOCKPILE, USING ON ROAD TRUCKS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND FINAL SITE GRADING, TO BE USED ONLY WITH WRITTEN DIRECTION FROM ENGINEER, COMPLETE IN PLACE	СҮ	5700	\$19.00	\$108,300.00	\$11.86	\$67,602.00	\$3.30	\$18,810.00	\$16,97	\$96,729.00
5	REMOVE AND OFFSITE DISPOSAL OF EXISTING TYPE III BARRICADE, COMPLETE IN PLACE	EA	4	\$1.00	\$4.00	\$119.71	\$478.84	\$1.00	\$4.00	\$21.90	\$87.60
6	DUAL 6" PVC IRRIGATION SLEEVES, CLASS 200 PIPE, COMPLETE IN PLACE	LF	100	\$40.00	\$4,000.00	\$40.42	\$4,042.00	\$35.00	\$3,500.00	\$43.80	\$4,380.00
7	ADDITIONAL BONDS FOR PERFORMANCE, PAYMENT, MAINTENANCE, AND SURFACE RESTORATION AS REQUIRED BY THE CITY OF HOUSTON FOR DPC	LS	1	\$15,000.00	\$15,000.00	\$5,985.34	\$5,985.34	\$5,000.00	\$5,000.00	\$25,000.00	\$25,000.00
8	DEVELOPERS BONDS AS REQUIRED BY CITY OF HOUSTON	LS	1	\$15,000.00	\$15,000.00	\$4,189.74	\$4,189.74	\$20,120.31	\$20,120.31	\$54,000.00	\$54,000.00
SUBTOT	AL MISCELLANEOUS ITEMS			•	\$147,705.00		\$93,836.92		\$52,763.81	=	\$187,639.03
BID SUN	MMARY										
WATER	LINE ITEMS				\$130,177.00		\$134,637.82		\$130,694.17		\$139,722.81
SANITA	RY SEWER ITEMS				\$203,153.05		\$223,654.34		\$234,008.63		\$272,024.25
STORM	SEWER ITEMS				\$387,927.45		\$439,528.24		\$460,047.14		\$420,984.50
PAVING	ITEMS				\$704,884.75		\$747,250.99		\$772,622.25		\$874,317.84
SWPPP	TEMS				\$14,894.00		\$16,831.55		\$15,194.00		\$24,546.13
EARTHV	/ORK				\$19,005.00		\$18,193.65		\$20,670.00		\$32,965.44
MISCELI	ANEOUS ITEMS				\$147,705.00		\$93,836.92		\$52,763.81		\$187,639.03
TOTAL	MOUNT BASE BID				\$1,607,746.25		\$1,673,933.51		\$1,686,000.00		\$1,952,200.00

HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 580 CITY OF HOUSTON, HARRIS COUNTY, TEXAS SEPTEMBER 09, 2025 LJA ENGINEERING, INC. D.CAMPOS 9/9/2025 2835-2107 (0)

LJA JOB	B NO.				2835-2107 (0)	
				Г	5) PRINCIP	AL SERVICES, LTD
					3) PRINCIP	AL JERVICES, LID
NO.		ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL
		IE, C-900, DR 18, CLASS 235, INCLUDES FITTINGS, BEDDING L DEPTHS, COMPLETE IN PLACE	LF	1571	\$37.00	\$58,127.00
2		D JOINT WATER LINE, C-900, DR 18, CLASS 235, INCLUDES TFITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, CE	LF	346	\$53.00	\$18,338.00
3	3. 8" AWWA GATE V	ALVE & BOX, COMPLETE IN PLACE	EA	2	\$2,259.00	\$4,518.00
4		IT, INCLUDES APPROPRIATE TEE, FITTINGS, 6" GATE VALVE PIPE, ALL DEPTHS, COMPLETE IN PLACE	EA	5	\$7,750.00	\$38,750.00
5	INCLUDES FITTING	N OF PROPOSED 8" WATER LINE TO EXISTING WATER LINE, iS, ALL ADAPTERS AND CONNECTORS NECESSARY, AND TING PLUG & CLAMP AND 2" BLOW-OFF VALVE & BOX, PLETE IN PLACE	EA	3	\$833.00	\$2,499.00
6	INCLUDES STRIPPI COMPACTION TO	CLUDES HAULING EXCAVATED MATERIALS ONSITE, NG, STOCKPILING STRIPPINGS, PLACEMENT AND 95% STANDARD PROCTOR DENSITYM WITH MAXIMUM 8" DING, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN	CY	1752	\$5.00	\$8,760.00
7		YSTEM FOR WATER LINE, INCLUDES ALL LATERAL LEADS, PTHS, COMPLETE IN PLACE	LF	1917	\$0.10	\$191.70
8	8. DEWATERING FOR DEPTHS, COMPLET	WATER LINE, (AS DIRECTED BY ENGINEER), ALL SIZES, ALL TE IN PLACE	LF	960	\$20.00	\$19,200.00
SUBTO	TAL WATER LINE ITE	ms				\$150,383.70
	ARY SEWER ITEMS 1. 8" PVC SEWER PIPI AND BACKFILL, CO	E, ASTM D-2241, SDR 26, 0' - 8' CUT, INCLUDES BEDDING IMPLETE IN PLACE	LF	276	\$45.00	\$12,420.00
2	2. 8" PVC SEWER PIP AND BACKFILL, CO	E, ASTM D-2241, SDR 26, 8' - 12' CUT, INCLUDES BEDDING IMPLETE IN PLACE	LF	1587	\$45.00	\$71,415.00
3		METER PRECAST SANITARY SEWER MANHOLE, (0' - 8' S ADJUSTMENTS, COMPLETE IN PLACE	EA	7	\$3,466.00	\$24,262.00
4		DEPTH FOR 4' DIAMETER SANITARY SEWER MANHOLE COMPLETE IN PLACE	VF	7.99	\$221.00	\$1,765.79
5	SDR 26, INCLUDES STRUCTURE, STAC	E OR SINGLE 6" PVC PIPE SERVICE LEAD, ASTM D-3034, PIPE, CEMENT STABILIZED SAND BACKFILL, DROP K, RISER, WYE, PLUG, MARKER, AND ANY NECESSARY THS, COMPLETE IN PLACE	EA	20	\$2,639.00	\$52,780.00
6	INCLUDES PIPE, CE	.E 6" PVC PIPE SERVICE LEAD, ASTM D-3034, SDR 26, :MENT STABILIZED SAND BACKFILL, DROP STRUCTURE, E, PLUG, MARKER, AND ANY NECESSARY FITTINGS, ALL TE IN PLACE	EA	25	\$1,810.00	\$45,250.00
7		SITE DISPOSAL OF EXISTING 8" PLUG AND CONNECT IITARY SEWER, ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$251.00	\$502.00

HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 580 CITY OF HOUSTON, HARRIS COUNTY, TEXAS SEPTEMBER 09, 2025 LIA ENGINEERING, INC. D.CAMPOS 9/9/2025 2835-2107 (0)

LJA JO	B NO.		2	835-2107 (0)	
			_		
				5) PRINCIPA	AL SERVICES, LTD
NO.	. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL
	8. CLEANING AND VIDEO INSPECTION OF SANITARY SEWER, ALL SIZES,	LF	1863	\$2.00	\$3,726.00
	INCLUDES DIGITAL COPY, COMPLETE IN PLACE				
	9. UTILITY SPOILS, INCLUDES HAULING EXCAVATED MATERIAL ONSITE, INCLUDES STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, FINAL GRADING, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	СУ	2208	\$5.00	\$11,040.00
1	10. TRENCH SAFETY SYSTEM FOR SANITARY SEWER, INCLUDES ALL LATERAL LEADS, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	1863	\$0.10	\$186.30
1	11. DEWATERING FOR SANITARY SEWER, (AS DIRECTED BY ENGINEER), ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	930	\$20.00	\$18,600.00
1	12. CORE INTO EXISTING SANITARY SEWER MANHOLE AND CONNECT PROPOSED 8" SANITARY SEWER LINE, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$427.00	\$427.00
SUBTO	OTAL SANITARY SEWER ITEMS			_	\$242,374.09
	M SEWER ITEMS				
	24" RCP STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	182	\$126.00	\$22,932.00
	2. 30" RCP STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	480	\$147.00	\$70,560.00
	3. 36" RCP STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	866	\$208.00	\$180,128.00
	4. 42" RCP STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	261	\$267.00	\$69,687.00
	5. REINFORCED CONCRETE TYPE "C" MANHOLE FOR 42" STORM SEWER AND SMALLER, INCLUDES ADJUSTMENTS, ALL DEPTHS, COMPLETE IN PLACE	EA	7	\$4,711.00	\$32,977.00
	6. STAGE I - REINFORCED CONCRETE "B-B" INLET, (5' OPENING), INCLUDES INLET PROTECTION BARRIER FOR STAGE I INLET, ALL DEPTHS, COMPLETE IN PLACE	EA	10	\$1,679.00	\$16,790.00
	7. STAGE II - REINFORCED CONCRETE "B-B" INLET, (5' OPENING), ALL DEPTHS, COMPLETE IN PLACE	EA	10	\$2,822.00	\$28,220.00
	8. CONSTRUCT REINFORCED CONCRETE TYPE "E" INLET ON EXISTING STORM SEWER, ONE SIDE OPEN, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$3,378.00	\$3,378.00
	9. WING WALLS FOR 24" RCP STORM SEWER PER COH DETAILS, INCLUDES HEADWALL AND APRON, COMPLETE IN PLACE	EA	2	\$5,760.00	\$11,520.00
1	10. VIDEO INSPECTION OF STORM SEWER, ALL SIZES, INCLUDES DIGITAL COPY, COMPLETE IN PLACE	LF	1789	\$2.00	\$3,578.00

O:\LAND\2835\2107\09092025_WSD and PAV Allison Park Sec. 6_BT

			E/ DDINICID	AL SERVICES LTD
			5) PRINCIPA	AL SERVICES, LID
ITEM DESCRIPTION THITY SPOILS INCLUDES HALLING EXCAVATED MATERIAL ONSITE				\$12,350.00
ILLIT SPOILS, INCLUDES HAUTING EXCAVALED MALERIAL DISTIE, CLUDES STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND DMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" FTS, FINAL GRADING, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN ACE	Cī	2470	00.دډ	,12,53U.UU
ENCH SAFETY SYSTEM FOR STORM SEWER, ALL SIZES, ALL DEPTHS, DMPLETE IN PLACE	LF	1789	\$0.10	\$178.90
CAVATION AND GRADING OF DRAINAGE SWALE, 3:1 MINIMUM SIDE OPE - V-BOTTOM, (ALL DEPTHS), INCLUDES HAULING OF SPOIL MATERIAL, RIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO % STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND RE-PPLICATION OF STRIPPINGS, COMPLETE IN PLACE	LF	463	\$4.00	\$1,852.00
CAVATION AND GRADING OF ROADSIDE DITCH ALONG FUQUA STREET, CLUDES STRIPPING, STOCKPILING STRIPPINGS, ONSITE PLACEMENT AND DMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" FTS, AND RE-APPLICATION OF STRIPPINGS, INCLUDES HYDROMULCH EDING, INCLUDES WATERING, COMPLETE IN PLACE	LF	2090	\$3.00	\$6,270.00
MOVE AND OFFSITE DISPOSAL OF EXISTING 8" BRICK PLUG AND DINNECT PROPOSED 42" RCP TO EXISTING 42" RCP, ALL DEPTHS, IMPLETE IN PLACE	EA	1	\$368.00	\$368.00
WATERING FOR STORM SEWER, (AS DIRECTED BY ENGINEER), ALL SIZES, L DEPTHS, COMPLETE IN PLACE	LF	895	\$20.00	\$17,900.00
REAK INTO EXISTING STORM SEWER MANHOLE TO CONNECT PROPOSED " STORM SEWER, COMPLETE IN PLACE	EA	1	\$368.00	\$368.00
STORM SEWER ITEMS			_	\$479,056.90
MS REINFORCED CONCRETE PAVEMENT 3,500 PSI, COMPLETE IN PLACE	SY	6170	\$67.00	\$413,390.00
X 12" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	3680	\$4.50	\$16,560.00
REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	270	\$4.50	\$1,215.00
LIME STABILIZED SUBGRADE MANIPULATION, COMPLETE IN PLACE	SY	6603	\$4.50	\$29,713.50
YDRATED LIME FOR 8" STABILIZED SUBGRADE PREPARATION, 6% BY DRY EIGHT (36 LBS/SY) AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY COTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	119	\$400.00	\$47,600.00
WIDE REINFORCED CONCRETE 4.5" ALONG RESERVES AND SIDE ITSTHICK SIDEWALK, COMPLETE IN PLACE	LF	1330	\$40.00	\$53,200.00
DA RAMPS, INCLUDES TRUNCATED DOME PAVERS WITH CONTRASTING DLOR PER DETAIL, COMPLETE IN PLACE	EA	2	\$2,000.00	\$4,000.00
NAL LOT AND RESERVE GRADING, COMPLETE IN PLACE	EA	90	\$300.00	\$27,000.00
CO TO CO TO CO TO	TILITY SPOILS, INCLUDES HAULING EXCAVATED MATERIAL ONSITE, CLUDES STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND OMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" DTS, FINAL GRADING, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN ACE SENCH SAFETY SYSTEM FOR STORM SEWER, ALL SIZES, ALL DEPTHS, DIPLICATION AND GRADING OF DRAINAGE SWALE, 3:1 MINIMUM SIDE OPE - V-BOTTOM, (ALL DEPTHS), INCLUDES HAULING OF SPOIL MATERIAL, RIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO % STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND RE-POLICATION OF STRIPPINGS, COMPLETE IN PLACE CAVATION AND GRADING OF ROADSIDE DITCH ALONG FUQUA STREET, CLUDES STRIPPING, STOCKPILING STRIPPINGS, ONSITE PLACEMENT AND DIPLICATION OF STRIPPINGS, COMPLETE IN PLACE CAVATION AND GRADING OF ROADSIDE DITCH ALONG FUQUA STREET, CLUDES STRIPPING, STOCKPILING STRIPPINGS, ONSITE PLACEMENT AND DIPLICATION OF STRIPPINGS, COMPLETE IN PLACE CAVATION AND GRADING OF ROADSIDE DITCH ALONG FUQUA STREET, CLUDES STRIPPING, STOCKPILING STRIPPINGS, ONSITE PLACEMENT AND DIPLICATION OF STRIPPINGS, INCLUDES HYDROMULCH EDING, INCLUDES WATERING, COMPLETE IN PLACE MOVE AND OFFSITE DISPOSAL OF EXISTING 8" BRICK PLUG AND DINECT PROPOSED 42" RCP TO EXISTING 42" RCP, ALL DEPTHS, DIPLICATE IN PLACE WATERING FOR STORM SEWER, (AS DIRECTED BY ENGINEER), ALL SIZES, L DEPTHS, COMPLETE IN PLACE SEAK INTO EXISTING STORM SEWER MANHOLE TO CONNECT PROPOSED "STORM SEWER, COMPLETE IN PLACE STORM SEWER ITEMS MS REINFORCED CONCRETE CURB, COMPLETE IN PLACE LIME STABILIZED SUBGRADE MANIPULATION, COMPLETE IN PLACE LIME STABILIZED SUBGRADE MANIPULATION, COMPLETE IN PLACE LIME STABILIZED SUBGRADE MANIPULATION, COMPLETE IN PLACE WIDER REINFORCED CONCRETE CURB, COMPLETE IN PLACE WIDER REINFORCED CONCRETE 4.5" ALONG RESERVES AND SIDE OFFICIAL ALONG PROPOVED BY STABILIZED SUBGRADE PREPARATION, 6% BY DRY STABILIZED SUBGRADE PREPARATION, 6% BY DRY DESTRIPPINGS. AND APPROVED BY STABILIZED SUBGRADE PREPARATION, 6% BY DRY STABILIZED SUBGRADE PREPARATION, 6% BY DRY STABI	TILITY SPOILS, INCLUDES HAULING EXCAVATED MATERIAL ONSITE, CLUDES STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND MAPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" FTS, FINAL GRADING, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN ACE ENCH SAFETY SYSTEM FOR STORM SEWER, ALL SIZES, ALL DEPTHS, MPLETE IN PLACE CAVATION AND GRADING OF DRAINAGE SWALE, 3:1 MINIMUM SIDE OPE - V-BOTTOM, (ALL DEPTHS), INCLUDES HAULING OF SPOIL MATERIAL, RIPPING, STOCKPILING STRIPPINGS, INCLUDES HAULING OF SPOIL MATERIAL, RIPPING, STOCKPILING STRIPPINGS, COMPLETE IN PLACE CAVATION AND GRADING OF ROADSIDE DITCH ALONG FUQUA STREET, CLUDES STRIPPING, STOCKPILING STRIPPINGS, ONSITE PLACEMENT AND DMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" TTS, AND RE-APPLICATION OF STRIPPINGS, INCLUDES HYDROMULCH EDING, INCLUDES WATERING, COMPLETE IN PLACE MOVE AND OFFSITE DISPOSAL OF EXISTING 8" BRICK PLUG AND DENECT PROPOSED 42" RCP TO EXISTING 42" RCP, ALL DEPTHS, MPLETE IN PLACE WATERING FOR STORM SEWER, (AS DIRECTED BY ENGINEER), ALL SIZES, L DEPTHS, COMPLETE IN PLACE WEAK INTO EXISTING STORM SEWER MANHOLE TO CONNECT PROPOSED EA EXAMPLE IN PLACE STORM SEWER ITEMS MS REINFORCED CONCRETE CURB, COMPLETE IN PLACE LF REINFORCED CONCRETE CURB, COMPLETE IN PLACE LF REINFORCED CONCRETE CURB, COMPLETE IN PLACE LF LIME STABILIZED SUBGRADE MANIPULATION, COMPLETE IN PLACE SY X 12" REINFORCED CONCRETE CURB, COMPLETE IN PLACE LF CONTACT OF THE PLACE LF CONTACT	TILITY SPOILS, INCLUDES HAULING EXCAVATED MATERIAL ONSITE, CLUDES STRIPPING, STOCKPILING STRIPPINGS, PLEAMENT AND MAPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" TTS, FINAL GRADING, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN ACE ENCH SAFETY SYSTEM FOR STORM SEWER, ALL SIZES, ALL DEPTHS, DIMPLETE IN PLACE CAVATION AND GRADING OF DRAINAGE SWALE, 3:1 MINIMUM SIDE OPE - V-BOTTOM, (ALL DEPTHS), INCLUDES HAULING OF SPOIL MATERIAL, RIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO WAS STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND RE- PPLICATION OF STRIPPINGS, COMPLETE IN PLACE CAVATION AND GRADING OF ROADSIDE DITCH ALONG FUQUA STREET, CLUDES STRIPPING, STOCKPILING STRIPPINGS, ONSITE PLACEMENT AND MAPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND RE-APPLICATION OF STRIPPINGS, INCLUDES HYDROMULCH EDING, INCLUDES WATERING, COMPLETE IN PLACE MOVE AND OFFSITE DISPOSAL OF EXISTING 8" BRICK PLUG AND DENDETE IN PLACE WATERING FOR STORM SEWER, (AS DIRECTED BY ENGINEER), ALL SIZES, LDEPTHS, COMPLETE IN PLACE WATERING FOR STORM SEWER, (AS DIRECTED BY ENGINEER), ALL SIZES, LDEPTHS, COMPLETE IN PLACE WEAK INTO EXISTING STORM SEWER MANHOLE TO CONNECT PROPOSED EAA 1 STORM SEWER, COMPLETE IN PLACE STORM SEWER, COMPLETE IN PLACE LIFE 3680 REINFORCED CONCRETE PAVEMENT 3,500 PSI, COMPLETE IN PLACE LF 270 LIME STABILIZED SUBGRADE MANIPULATION, COMPLETE IN PLACE LF 271 LIME STABILIZED SUBGRADE MANIPULATION, COMPLETE IN PLACE LF 272 LIME STABILIZED SUBGRADE MANIPULATION, COMPLETE IN PLACE LF 273 LIME STABILIZED SUBGRADE MANIPULATION, COMPLETE IN PLACE LF 274 LIME STABILIZED SUBGRADE MANIPULATION, COMPLETE IN PLACE LF 275 LIME STABILIZED SUBGRADE MANIPULATION, COMPLETE IN PLACE LF 276 LIME STABILIZED SUBGRADE MANIPULATION, COMPLETE IN PLACE LF 276 LIME STABILIZED SUBGRADE MANIPULATION, COMPLETE IN PLACE LF 276 LIME STABILIZED SUBGRADE MANIPULATION, COMPLETE IN PLACE LF 277 LIME STABILIZED SUBGRADE MANIPULATION, COMPLETE IN PLACE LF 278 LIPE STABILIZED SUB	TILLYT SPOILS, INCLUDES HAULING EXCAVATED MATERIAL ONSITE, CLUDES STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND MAPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" TS, FINAL GRADING, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN ACE ENCH SAFETY SYSTEM FOR STORM SEWER, ALL SIZES, ALL DEPTHS, IF 1789 \$0.10 MAPLETE IN PLACE CAVATION AND GRADING OF DRAINAGE SWALE, 3:1 MINIMUM SIDE CAVATION AND GRADING OF DRAINAGE SWALE, 3:1 MINIMUM SIDE CAVATION AND GRADING OF DRAINAGE SWALE, 3:1 MINIMUM SIDE CAVATION AND GRADING OF DRAINAGE SWALE, 3:1 MINIMUM SIDE CAVATION AND GRADING OF DRAINAGE SWALE, 3:1 MINIMUM SIDE CAVATION AND GRADING OF DRAINAGE SWALE, 3:1 MINIMUM SIDE CAVATION OF STRIPPINGS, INCLUDES HAULING OF SPOIL MATERIAL, RIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO SETANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND RE- PPLICATION OF STRIPPINGS, COMPLETE IN PLACE CAVATION AND GRADING OF ROADSIDE DITCH ALONG FUQUA STREET, CLUDES STRIPPING, STOCKPILING STRIPPINGS, ONSITE PLACEMENT AND DIMPACTION TO SSY STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" TS, AND RE-APPLICATION OF STRIPPINGS, INCLUDES HYDROMULCH EDING, INCLUDES WATERING, COMPLETE IN PLACE WATERING FOR STORM SEWER, (AS DIRECTED BY ENGINEER), ALL SIZES, LIFE STORM SEWER, (AS DIRECTED BY ENGINEER), ALL SIZES, LIFE STORM SEWER, (AS DIRECTED BY ENGINEER), ALL SIZES, LIFE STORM SEWER, COMPLETE IN PLACE STORM SEWER ITEMS MS REINFORCED CONCRETE CURB, COMPLETE IN PLACE LIFE 3760 \$4.50 X 12" REINFORCED CONCRETE CURB, COMPLETE IN PLACE LIFE 3760 \$4.50 CRAINFORCED CONCRETE CURB, COMPLETE IN PLACE LIFE 3770 \$4.50 CREINFORCED CONCRETE CURB, COMPLETE IN PLACE LIFE 3780 \$4.50 CREINFORCED CONCRETE CURB, COMPLETE IN PLACE LIFE 3780 \$4.50 CREINFORCED CONCRETE CURB, COMPLETE IN PLACE LIFE 3790 \$4.50 CREINFORCED CONCRETE CURB, COMPLETE IN PLACE LIFE 3790 \$4.50 CREINFORCED CONCRETE CURB, COMPLETE IN PLACE LIFE 3790 \$4.50 CREINFORCED CONCRETE CURB, COMPLETE IN PLACE LIFE 3790 \$4.50 CREINFORCED CONCRETE CURB, COMPLETE IN PLACE LIFE 3790

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

LJA JOB NO.		2	2835-2107 (0)	
			5) PRINCIP	AL SERVICES, LTD
NO. ITEM DESCRIPTION 9. ROADWAY EXCAVATION TO BE USED FOR FILL TO FINAL GRADE WITHIN THE PROJECT LIMITS, INCLUDES STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	CY	1101	\$9.50	\$10,459.50
 1-1/2" TYPE "D" HMAC PAVING WITH 6" FLEXIBLE BLACK BASE AND PRIME COAT, COMPLETE IN PLACE 	SY	2330	\$140.00	\$326,200.00
11. 8" STABILIZED SUBGRADE MANIPULATION, COMPLETE IN PLACE	SY	2330	\$10.00	\$23,300.00
12. 1'-6" FLUSH CURB/GUTTER, CONCRETE, COMPLETE IN PLACE	LF	2090	\$35.00	\$73,150.00
13. TYPE III BARRICADE, COMPLETE IN PLACE	EA	1	\$1,000.00	\$1,000.00
14. REMOVE AND DISPOSE OF TYPE III BARRICADE, COMPLETE IN PLACE	EA	4	\$50.00	\$200.00
SUBTOTAL PAVING ITEMS			-	\$1,026,988.00
SWPPP ITEMS 1. STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE, INCLUDES GENERAL SOURCE CONTROLS AND ALL ITEMS NOT SPECIFICALLY LISTED IN THE BID PROPOSAL, COMPLETE IN PLACE	LS	1	\$500.00	\$500.00
INSTALL, MAINTAIN, AND REMOVE STABILIZED CONSTRUCTION EXIT, AND REGRADE AREA TO MATCH FINISHED GRADE, COMPLETE IN PLACE	EA	1	\$2,000.00	\$2,000.00
3. INSTALL, MAINTAIN, AND REMOVE FILTER FABRIC FENCE (SILT BARRIER FENCING), COMPLETE IN PLACE	LF	5597	\$0.10	\$559.70
4. INLET PROTECTION BARRIER FOR STAGE I INLET, COMPLETE IN PLACE	EA	10	\$1.00	\$10.00
5. INLET PROTECTION BARRIER FOR STAGE II INLET, COMPLETE IN PLACE	EA	10	\$50.00	\$500.00
SUBTOTAL SWPPP ITEMS			-	\$3,569.70
EARTHWORK 1. FINAL LOT GRADING OF LOTS AND RESERVES, INCLUDES STRIPPING AND PROOF ROLLING, HAULING PLACEMENT AND COMPACTION OF FILL AT 95% STANDARD PROCTOR DENSITY, AND REPLACEMENT OF STRIPPINGS, COMPLETE IN PLACE	EA	93	\$250.00	\$23,250.00
2. HYDROMULCH SEED ALL RESERVES, INCLUDES WATERING, COMPLETE IN PLACE	AC	0.6	\$2,000.00	\$1,200.00
SUBTOTAL EARTHWORK			-	\$24,450.00
MISCELLANEOUS ITEMS 1. TEMPORARY TRAFFIC CONTROL PLAN, COMPLETE IN PLACE	LS	1	\$15,000.00	\$15,000.00
2. PERMANENT TRAFFIC CONTROL DEVICES, INCLUDES ALL TRAFFIC BUTTONS, PAVEMENT STRIPING, MARKERS, REFLECTIVE PAINT ON MEDIAN NOSES, STREET SIGNS, TRAFFIC SIGNS, ETC., COMPLETE IN PLACE	LS	1	\$10,000.00	\$10,000.00
EXTRA CEMENT STABILIZED SAND BACKFILL, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	CY	100	\$28.00	\$2,800.00

BID TABULATION FOR:

CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES AND PAVING & APPURTENANCES TO SERVE ALLISON PARK SECTION 6

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 580 CITY OF HOUSTON, HARRIS COUNTY, TEXAS SEPTEMBER 09, 2025 LIA ENGINEERING, INC. D.CAMPOS 9/9/2025 2835-2107 (0)

				5) PRINCI	PAL SERVICES, LTD
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL
4.	IMPORT FILL, INCLUDES HAUL FROM DESIGNATED STOCKPILE, USING ON ROAD TRUCKS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND FINAL SITE GRADING, TO BE USED ONLY WITH WRITTEN DIRECTION FROM ENGINEER, COMPLETE IN PLACE	CY	5700	\$25.00	\$142,500.00
5.	REMOVE AND OFFSITE DISPOSAL OF EXISTING TYPE III BARRICADE, COMPLETE IN PLACE	EA	4	\$50.00	\$200.00
6.	DUAL 6" PVC IRRIGATION SLEEVES, CLASS 200 PIPE, COMPLETE IN PLACE	LF	100	\$42.00	\$4,200.00
7.	ADDITIONAL BONDS FOR PERFORMANCE, PAYMENT, MAINTENANCE, AND SURFACE RESTORATION AS REQUIRED BY THE CITY OF HOUSTON FOR DPC	LS	1	\$82,615.48	\$82,615.48
8.	DEVELOPERS BONDS AS REQUIRED BY CITY OF HOUSTON	LS	1	\$25,500.00	\$25,500.00
SUBTOT	AL MISCELLANEOUS ITEMS				\$282,815.48
BID SUN	IMARY				
WATER	LINE ITEMS				\$150,383.70
SANITAR	RY SEWER ITEMS				\$242,374.09
STORM	SEWER ITEMS				\$479,056.90
PAVING	ITEMS				\$1,026,988.00
SWPPP I	TEMS				\$3,569.70
EARTHW	/ORK				\$24,450.00
MISCELL	ANEOUS ITEMS				\$282,815.48
TOTAL A	MOUNT BASE BID				\$2,209,637.87

O:\LAND\2835\2107\09092025_WSD and PAV Allison Park Sec. 6_BT

Bid Tabulation Routing Form



То:	Reginald Smith, PE	Date:	9/9/2025
From:	D.Campos	Bid Open Date:	SEPTEMBER 09, 2025
Job No:	2835-2107 (0)	_	
Project Name:	CONSTRUCTION OF THE WATER, SANITAR ALLISON PARK SECTION 6	Y SEWER AND DRAINAGE FACILITIES AN	D PAVING & APPURTENANCES TO SERVE
Attachments:			
	X Bid Tabulation		
	□ Bids		8,
	☐ Other:		
Notes:			
	W THE BID TABULATION. IF NO CHANGES ARE S ON HOW TO PROCEED BY CHECKING THE A		JRN ALL ITEMS TO CAG. PLEASE PROVIDE
	Prepare Recommendation of Award Letter	for Low Bidder	
	Base Bid Only Other, Specify:		
	Prepare Notice of Award Letter for Succes	sful Bidder	
	Anticipated Award Letter		
		neeting on	
	Developer Award Letter	0	
	Prepare Contracts for Successful Bidder		
	Hold until further notice		
Notes:			